Ryds BK

Partavling hcp 2023-01-24

Partavling, 3 bord, 6 par. Antal brickor: 25. Medel: 50.0.

Plac  Par Poang % Namn MID Klubb
1 4 66.4 66.42  Mats Johansson - Jérgen Karlsson 1138 68593  Ryds BK
2 2 54.2 54.17 Tomas Blomster - Peter Hakansson 764 2403 Ryds BK
3 3 52.7 52.70  Karl-Erik Johansson - Evert Forsberg 768 19652 Ryds BK
4 5 49.2 49.25  Peter Rundquist - Benny Karlsson 42063 86263  Vaxjobridgen - Ryds BK
5 1 46.0 46.05 Roger Rundkvist - Laila Méller 878 86298 Ryds BK
6 6 314 3141 Klas Samuelsson - Evert Ramstrom 47269 763 Ryds BK
1 a K4 Basta kontrakt 2 + E86 Basta kontrakt 3 494 Basta kontrakt
Nord v EKKn9 44 N D -1-100 Ost vE5 5NT S =660 Syd v EKD3 3v S =140
Ingen + K102 NS ¢+ E763 ov +52
*E964 & ¢ v & NT *E742 & ¢ v & NT #K9764 & ¢ v & NT
4 Kn108753 & ED96 N9 59 48 #1052 &« KKn973 N 11108 7 11 « E8732 4 KKn105 N 109 9 6 7
v7 v D652 S 94945 vDKn9843 v10 S 119 7 6 11 v10975 v642 S 109 9 6 7
¢ 8753 ¢+ ED4 0484094 2 ¢ K9854 023552 ¢ 76 ¢+ D1093 022476
103 &Kn7 V 484094 *K53 #96 V23552 #ED #103 V2246€6
a2 «D4 D6
v 10843 v K762 v Kn8
+ Kn96 + DKn10 + EKKn84
#KD852 #DKn108 #Kn852
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
2 4 4v N= LN 420 40 0.0 3 5 3NN+2 43 660 40 0.0 3 5 5&N= oT 400 4.0 0.0
6 1 3NN= v2 400 2.0 2.0 2 4 3NS+1 vQ 630 2.0 2.0 6 1 3#S+1 &A 130 2.0 2.0
3 5 4vDN-1 &J -100 0.0 4.0 6 1 24DO-2 £Q 300 0.0 4.0 2 4 5#N-1 a5 -50 0.0 4.0
4 &« K53 Bésta kontrakt 5 # Kn106432 Bésta kontrakt 6 a- Bésta kontrakt
Vast v KKn87 24 V =-110 Nord vE10 3NT O =-400 Ost v E10932 5& S D -2-300
Alla ¢ 432 NS ¢+ E753 ov + 1096
+D54 & ¢ v & NT *7 & ¢ v & NT #E10943 & ¢ v & NT
4 DKn1092 4ES8 N6 6 656 a- &« EK975 N2546 3 « KDKn9863 & E52 N9 87 35
v 10632 v D94 S 66 656 v D87 v KKn43 S 2536 3 v 864 v KDKn S987 35
¢+ Knl10 ¢ EK75 O7 7786 ¢ Kn82 ¢+ D104 O 108 9 6 9 ¢+ Kn ¢ K852 O3 45 108
#KKn £10762 V761787 #EKD9653 #Kn V 108 9 6 9 &K5 &DKn2 V 3 45 108
4764 D8 1074
vE5 v 9652 v75
+ D986 + K96 + ED743
#E983 10842 »876
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
2 4 24 V-2 &4 200 40 0.0 2 4 3NV-1 +3 50 20 2.0 15 440= v7 -620 4.0 0.0
35 1INO= *3 90 2.0 2.0 35 4v0-1 +6 50 20 2.0 4 3 3NO+1 3 -630 2.0 2.0
6 1 INO+1 +¢6 -120 0.0 4.0 6 1 4v0-1 6 50 20 20 6 2 44 O+1 w7 -650 0.0 4.0
7 +E10 Bésta kontrakt 8 4 Knl103 Bésta kontrakt 9 4 KD10972 Bésta kontrakt
Syd v K96 6NT S = 1440 Vast v K9642 3NT V =-400 Nord v D95 44 O =-130
Alla + KKn5 Ingen 4753 ov ¢ 643
#KD765 & ¢ v & NT %102 & ¢ v & NT LX] & ¢ v & NT
#5432 » Kn9876 N 9 12127 12 48764 #E5 N35 454 8 # Kn65 N3647T7
v Kn8 vD10 S 9 12127 12 vED v Kn875 S35554 v732 v EK106 S36477
32 410987 031151 ¢+ KD96 ¢ 42 O 108 8 8 9 495 ¢+ EK108 O 107 8 5 5
#EKn984 4102 v3iili1l151 #ED4  #K7653 vV 108 8 8 9 #D1097654 #EKn V 106 8 5 5
«KD » KD92 & E43
vE75432 v 103 v Kng4
+ ED64 + EKn108 ¢ DKn72
*3 #Kn9o8 #K82
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
6 2 6y S+l 3 1460 4.0 0.0 4 3 INV+3 v2 -180 4.0 0.0 4 3 3NO-4 s A 400 4.0 0.0
4 3 4vS+3 &4 710 20 20 1 5 3NV+2 *7 -460 1.0 3.0 1 5 44DN-2 vA -300 2.0 2.0
15 4vS+2 &5 680 0.0 4.0 6 2 3NV +2 v2 -460 1.0 3.0 6 2 540= aA -600 0.0 4.0
10 & K543 Bésta kontrakt 11 432 Bésta kontrakt 12 & EKn65 Bésta kontrakt
Ost v K72 4ANT O =-630 Syd vKn8 3v V =-140 Vast vD1054 2NTV =-120
Alla + EDKn10 Ingen + KD1074 NS +D2
+D6 & ¢ v & NT #9874 & ¢ v & NT #E98 & ¢ v & NT
« D108 ~E96 N25242 4754  #E106 N57 46 4 D7 » K1083 N4555 4
vED vKnl0654 S 2 5 2 4 2 v965 vED1043 S57 46 4 vE863 vK72 S4555 4
¢ 75 + K86 O 118 109 10 ¢ 8652 +E9 076978 ¢ E1064 ¢ Kn7 09 7 8 88
#E109874 #KKn vV 118 109 10 #EKn5 #K102 V769738 *K76 #DKn43 V9782838
& Kn72 » KDKn98 4942
v 983 v K72 vKn9
49432 ¢ Kn3 + K9853
#532 #D63 #1052
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
15 3NV-3 +Q 300 40 0.0 2 1 24S+2 99 170 40 0.0 2 1 INV= v4 -90 4.0 0.0
4 3 2NO+2 3 -180 2.0 2.0 6 3 24 S-2 v9 -100 2.0 2.0 54 INO+2 ¢5 -150 2.0 2.0
6 2 3NV= *T -600 0.0 4.0 54 2v0= & K -110 0.0 4.0 6 3 BNO+1 &T -430 0.0 4.0
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13 4 D753 Basta kontrakt 14 4 KKn9764 Basta kontrakt 15 4 KD10 Basta kontrakt
Nord v 96 ANT O =-630 Ost v73 34 S =140 Syd v KDKn854 5¢v S =650
Alla + K32 Ingen + EK83 NS + Kn4
#DKn63 & ¢ v & NT *4 & ¢ v & NT *K9 & ¢ v & NT
4 EKKn42 #1106 N6 2643 D » 10532 N586 97 874 #9632 N9 5 117 5
vD75 v 1082 S6 2543 vED954 v108 S6 9798 v6 vE9 S 95 117 5
+984 ¢ EDKNn75 O 7 107 9 10 ¢Kn92 +754 O7 46 45 +D1098763 ¢ E52 037257
*E2 *K104 vV 7 107 9 10 #K532  #EKn98 V746145 #63 #Kn1042 V37257
» 98 +E8 » EKn5
v EKKn43 v KKn62 v 10732
+ 106 + D106 +K
#9875 »D1076 #ED875
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
21 INO+1 v4 -120 3.0 1.0 2 1 44 N= vT 420 20 20 21 4vyN+1 46 650 2.0 2.0
54 2NV= *6 -120 3.0 1.0 5 4 44 N= vT 420 2.0 2.0 5 4 49y N+1 #9 650 2.0 2.0
6 3 3¢ 0+2 YA -150 0.0 4.0 6 3 44 N= vT 420 20 20 6 3 4y N+1 #4 650 20 20
16 4 E876 Basta kontrakt 17 4 E10 Basta kontrakt 18 a74 Basta kontrakt
Vast v 853 3v N =140 Nord v9 5¢v O =-450 Ost v 98742 5NT O =-460
oV +84 Ingen ¢ KDKn7 NS 494
#DKn85 & ¢ v & NT #D109752 & ¢ v & NT #KD103 & ¢ v & NT
» Kn954 «D10 N6 4978 & K943 » D852 N9 9223 « EKN9852 4 KD3 N46 422
v9 v DKn2 S6 49738 v EKKn543 v D87 S99223 v Kn5 vED106 S 46422
¢ E109632 ¢ Kn7 O6 8465 +3 + E86 O 4 4 11107 ¢ K105 ¢ Kn3 097 9 1111
*92 #EK7643 V68354 #KKn #863 vV 4 4 11107 &75 *EKn94 V97 9 1110
4 K32 4 Kn76 » 106
v EK10764 v 1062 v K3
+ KD5 4109542 + ED8762
+10 »E4 862
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
1 3 4v S= *9 420 4.0 0.0 6 4 3y V+1  ¢K -170 4.0 0.0 1 3 44 0= ¢ A -420 3.0 1.0
52 3vS= *9 140 20 2.0 52 24 O+3 #A -200 2.0 2.0 52 44 O= *A -420 3.0 1.0
6 4 2vS= *9 110 0.0 4.0 13 4v V= *K -420 0.0 4.0 6 4 44 O+1 +A -450 0.0 4.0
19 a74 Bésta kontrakt 20 & K75 Bésta kontrakt 21 & E9853 Bésta kontrakt
Syd v 764 4v S =420 Vast v D543 34 V =-140 Nord v KD94 6NT N =1440
oV + KKn9854 Alla ¢+ D2 NS + Kn8
*E2 & ¢ v & NT #10754 & ¢ v & NT +D8 & ¢ v & NT
4 K10953 D86 N 5 11105 8 « DKn862 493 N7 4535 a74 «D1062 N9 99 9 12
v 95 vEDI10 S 5 11105 8 vEKNn762 vK S7 4545 vKn107652 - S99 9 8 12
+ D6 +102 081281 ¢ K7 ¢EKn10653 O 6 9 8 9 8 ¢- ¢K1097643 O 3 4 4 2 1
#7543 #KDKn96 vgl1l18l1l *2 *K963 V69797 #107632 *K9 V3iadsa1li1l
& EKn2 4 E104 & KKn
v KKn832 v 1098 v E83
¢E73 +984 ¢ ED52
108 #EDKn8 #EKn54
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
1 3 4vS+1 &7 450 4.0 0.0 52 3¢ 0O+2 &A -150 4.0 0.0 4 1 3NS+1 vJ] 630 4.0 0.0
6 4 4v S= 3 420 20 2.0 6 4 34 N-5 vK -500 2.0 2.0 3 2 3NS= v6 600 1.0 3.0
52 INN+1 &K 120 0.0 4.0 1 3 3NO= *8 -600 0.0 4.0 6 5 3NS= v6 600 1.0 3.0
22 « EDKn8 Bésta kontrakt 23  KKn9876 Bésta kontrakt 24 «ED4 Bésta kontrakt
Ost v E965 6# S =920 Syd v Kn2 3v V =-140 Vast v DKn5 2NT N =120
oV 6 Alla *72 Ingen + K94
#10842 & ¢ v o NT +1074 & ¢ v & NT *E1074 & ¢ v & NT
210743 & K652 N 127 107 9 «E3 «D4 N543765 « Kn10987 4K63 N7 6 8 6 8
vD103 vKKn8 S 127 107 9 v1063 vE9754 S55386 v E86 v93 S 7686 8
¢ D754 ¢ K10982 016322 ¢ EK95 ¢ Knl104 088957 ¢ Kn87 ¢+ D1063 057 475
»97 *6 V16362 #KD95 #632 V88957 *K5 #DKn62 V57475
49 #1052 452
v 742 vKD8 v K10742
¢ EKn3 + D863 ¢ E52
#EKDKnN53 #EKn8 2983
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
3 2 54S+1 #4 420 3.0 1.0 4 1 3v0= a2 -140 4.0 0.0 6 5 29 N+2 v3 170 4.0 0.0
4 1 54S+1 ¢4 420 3.0 1.0 32 2vV+2 7 -170 2.0 2.0 3 2 INN+2 v9 150 20 20
6 5 3#S+3 44 170 0.0 4.0 6 5 34 N-2 vA -200 0.0 4.0 4 1 2vyN-1 *2 -50 0.0 4.0
25 4 D75 Bésta kontrakt
Nord v 10743 44 V =-620
ov 2
#KDKn98 & ¢ v & NT
4 Knl10943 4 EK N436 34
vK v E86 S43634
¢ K853 ¢+ E1064 09 107 9 9
#E43 #10752 vV 9 107 109
# 862
v DKn952
¢ DKn97
*6
Par  Kontr Ut Res  Poang
32 3NO= v2 -600 3.0 1.0
4 1 3NO= v2 -600 3.0 1.0
6 5 3NO+2 ¢7 -660 0.0 4.0




